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M2210-1 REFNEIHBEHEE (FHHT— 2T KIIH ¢ 2000)
= TR SEEDIWT 1 t=5cm TR -
[ 2000 HEE T35 a% A M TR NE YR -P.83LY | m
RVAZIR/S - 7Tk IS
m | 3.502 LT 2.000 X m/4X 2.002 - 1.76 m® | 4.53
FEANGE
m | 4.702 e e
e - RC-40 |2.000 *X 7 /4X 1.5 - 1.45 m’ | 3.27
m | 4.502
FEASRHIFGAL T 5+ N=5 m | 4.270 MR (7T 7 [ AL
5<N=30 m (1.05 % X 7 /4X1.702) = 1.474
WHE+t N=30 m | 0.432 NFLIE S
30<N=50 m (1.10 * X 7 /4X0.30)= 0.285
WE+ N=30 m
30<N=50 m
Hi m 4.702
TR Ok ST — T = 1.9 m i 1
¢ 2000 mm |FRIA—I L= m EN & 1.76 | m’
Bk — 7 L= 1.8 m ZN 1 PR [ NFLCEER)
Rk r—s 7 = 1.8 m N 1 RC-40 (0.820*X 7 /4% (1.5-0.25) = 0.660
=V TUREET [ FAGE R G HE AR R LD P443 & T 1 PRAR - g
t= 12 mm 6.3 m X 1 T m 6.3 2.000 *X 7 /4X0.25 = 0.785
A7) —R T
KB R EHEAE SR R LD P446 m’ 3.1
Bl EFT
KB AR EHEAE SR R LD P443 m 0.900
ATA LAy T
TAKGE R EHEE AR R LY P450 m’ 1.2
=y TR T
TKGE AR G AR R LY P445 £ T 1 Ak 1.45 | m®
=YL |HEE L= 1.398 m AT +wh 2.024 X 7w /4X  4.502
t= 12 mm 2.0 Xgm + 1.398 X 4 m 11.88 = 1448 m®* | 14.48
B0 T VP ¢ 200 1.2m/f& T X 171 AsHZ A TR
t= 12 mm m 1.2
M TR ¢ 20007 & 1
AIZ9 T PSS 0.216 X /4% 1 X 0.093 = 0.003 (1.171)
RS 0.319 °X /4% 1 X 0.093 = 0.007
YL
L] 1.398 X 0.600 = 0.839] t 0.85




P AL S X (BRE AR R

2201-304 4% |2201-30% 4% [M2208-1%&  [M2209-17 [M2209-17 [M2209-2%& [M2209-2%& [M2209-3% [M2209-3% [M2210-1% |M2210-1% |M2212-1F|

FEMESLHL | BlENHT [HENLHT BESLHL | BlEESLHT (ST HESTHT HERFENL G |HEREIHT (NI 5T HENL BT ERVA)
AR Al L i Al L i fl L Al Al L gl Rt b gl iy F il iy SRy ()
AR AR (A 0. 081 0.109 0. 09 0.10 0.11 0.10 0.10 0. 09 0.10 0. 09 0.10 0. 08
RREEES (N 0.331 0.329 0.27 0.30 0.33 0.30 0.30 0.27 0. 29 0. 27 0. 30 0. 24
EmfEEs () 0. 22 0.21 0.18 0. 20 0.22 0.20 0.20 0.18 0.19 0.18 0. 20 0.16
HEAR (L) 758. 99 758. 99 568. 17 631. 00 727. 00 638. 67 638. 67 556. 17 635. 80 543. 00 669. 33 469. 50
A=V~ 1 (H) 0.221 0.219 0.18 0. 20 0. 22 0.20 0.20 0.18 0.19 0.18 0. 20 0.16
HEAR7HE (H) 0.221 0.219 0.18 0. 20 0. 22 0. 20 0.20 0.18 0.19 0.18 0. 20 0.16

2201-3FEHR [2201-3BKH7 [M2208-1%  |M2209-15] [M2209-11tF [M2209-2% |M2209-2% [M2209-3% [M2209-3% |M2210-1% [M2210-1% |M2212-1%

FEAMESLHL | BIEESLHL  |HESIUL BlEsrht  |BlEscht o [ESoi SCRVAZ) HEBIEENLYU [HEBIEENLYT [T BERVAZ]) BB
AR T Sy Sy sty T LA T A A sty T sty 1{[)

AR (KL) 4. 554 4. 554 3. 409 3.786 4. 362 3.832 3.832 3. 337 3.179 2.172 2.008 1.878




AT &3 (ZEFAN-T-TiE—EER)
% 8
& ARtk B | 2001-3BRRBAE L | 2201-3RRIRBIEST | M2208-1 FEAETIHT | M2209- 1 FHEIETT | M2209-1THEISEST | M2209-2 3£ T1 3] | M2209-256 #E TTHT | M2209-3FHEEISE | M2209-3FAEFE | M2210-156H#ETIHT | M2210-1 ST | M2212-1Blsgarsy | B aT &
B Rl b o1 | 3R b o ) ORI 3 TR i Bl I Tl b TRl LA
HEtEE m 4,050 3940 3916 4638 4688 4435 4455 3.800 3.881 4,061 4040 3.789 49.693
Uo7 E BEL " 0498 0498 0.996
MEL "
& & " 4548 4438 3916 4638 4688 4435 4.455 3.800 3.881 4,061 4040 3.789 50.689
#1E £ (N=0~4) m 2321 2321 2416 2716 2716 2.716 2.716 2.300 2.381 2.561 2.540 2.289 29.993
itk (N=4~8) "
1%+ (N=8~15) "
BE L (N=0~10) " 0498 0498 0.996
AR
BB L (N=10~30) "
B (N=304L) "
FhEE £ (N=0~50) "
i+ (N=50LLEF) "
& & " 2819 2819 2416 2716 2716 2.716 2.716 2.300 2.381 2.561 2.540 2.289 30.989
FEtEE(N=0~4) | m3 12413 12413 12175 13522 15579 13.687 13.687 11.918 11.354 7.758 7171 6.707|  138.384
HitE L (N=4~8) "
#Hitt L (N=8~15) "
BE+(N=0~10) " 2663 2663 5.326
NELE
FHE +(N=10~30) "
BB (N=30L4L) "
FbH2+(N=0~50) "
R+ (N=50L0L) "
& &t " 15.076 15.076 12175 13522 15579 13.687 13.687 11.918 11.354 7.758 7171 6.707| 143710
THYE
m 1.729 1.619 1,500 1.922 1.972 1719 1.739 1,500 1,500 1,500 1,500 1,500 19.700
AR
S 6 6 6 6 6 6 6 6 5 4 3 4 64
[ — B Y3 651 651 568 631 727 639 639 556 636 543 669 470 1302
RS " 108 108 216
18 HYE TR
*/B 9.045 9.117 11.089 9.969 9.204 10067 10,051 11.290 10462 11.253 10081 12293 123.921




KREAT BEHAEE

T4 (M2212-1BIEENT T EF®
i T4 | “HEER DL —F— e Ty MR 2 SRIAT IR
HifE | 3.999
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 3084k | 0~50 | 5084 |k L7auN:2
1| 1.500{ 1.500 2
2| 2.289| 2.289 1| 2.289
3
4
5
6
7
8
9
10
11
i 3. 789 2. 289
3. 789 3.789
4 R g & L &
1. HIFLE
itk BIFCERE L 0 3.789 m
WHE+
BE -
i 3.789 m
2. AR
Rt DDV 0~4 2. 289 2.289 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.289 m
3. b R 3.789  — 2. 289 1.500 m
4. PR 2.216 X 2.000 - 1.050°X 7 /8 3.999 m2
5. Bl LA 3.999 = 1.0 m2/7A = X 4 K
6. FAHIPA ( 1.160 X 1.108 - 1.05° X =/16 ) x ( 2.340 ) 2.446 7
6. x5 ik
vkt B 0~4 2.289 X 3.999 - 2. 446 6.707 m3
LA 4~8
fEol-| 8~15
WE | p2Zv| 0~10
iz | 10~30
ftio7=| 308k
B | AL | 0~50
FE-o7-| 5084

6. 707 m3




HEAME [ M2212-18Er 50 i ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 4 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 6. 707 2.289 28.00] 1:0 1.878 469. 50 469. 50
& 6.71 2. 289 1.878 469. 50 469. 50
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 3. 789 15. 156 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 3. 789 15. 156
Ts = Tl + T2 + T3 + T4
= 61.500 (min/A%)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14.0 min)

T3 = Qs /qs = 29. 344 (min/A)

B) 1THHEV LA KH) 2%y}

Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts

= 12.293 (K H)

I EARHEO 1 AHY
ES(E S (

6.3 M)



KREAT BEHAEE

T4 |2201-3FEMRIEMESTHT Tl
i T4 |—EEAML—F— e ty Mk 2 SRIAT IR
HifS | 5.348
A+ W+ BT+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308kl | 0~50 | 5024k L7auN:2
1] 1.729[ 1.729 2
2| 2.321] 2.321 1] 2.321
3] 0.498 0.498 1| 0.498
4
5
6
7
8
9
10
11
i 4. 050 0. 498 2.819
4. 548 4. 050 0.498
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.050 m
WHE 1+ 0.498 m
BE -
B 4.548 m
2. AR
Rt DDV 0~4 2.321 2.321 m
PhE | 4~8
fiio7-| 8~15
WEL[W5\0] 0~10 0. 498 0.498 m
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.819 m
3. R 4.548  — 2.819 1.729 m
4. PR 2.319 X 3. 000 - 2.024°X /8 5.348 m2
5. HIFLAK 5.348 =+ Lo m/A& = X 6 &
6. x5 ik
vt B 0~4 2.321 X 5.348 12.413 m3
ERA 4~8
fEol-| 8~15
WEL| D] 0~10 0.498 X 5.348 2.663 m3
i | 10~30
Ko7 | 308 L
B AL | 0~50
FE-o7-| 5084

. 076

m3




BACE [ 2201-3R%fgetEscyt Tl )

[1] EEEAE EHERXR_EER v—T 1)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EAMSRERE (3)
0 P (%)
o iR E (%)
o’ EAR (%)
+ ' 4 N fi | ARG LE | A & | EAR [ FEALE| E A E Gy 1ARE Y FEAREQs Uy
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 12. 413 2.321 28.00 1:0 3.476 579. 33 579. 33
g+ 0~10 2. 663 0. 498 40.50{ 1 : 1.5 0. 431 0. 647 71.83 107.83 179. 66
& 15. 08 2.819 3.907 0. 647 651. 16 107. 83 758. 99
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.458 (min/AK)
(min/m) Lo (m) T2 (min)
B+ 4.0 4. 050 16. 200 v2 o 0 RO EAEZERR ( 2.0 min/m)
W E + 5.0 0. 498 2. 490
[ e 8.0 (4) 1A% fii THREHE (min,/ 4%)
& Et 4. 548 18. 690
Ts = Tl + T2 + T3 + T4
= 83.585 (min/A)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14.0 min)
T3 = Qs /qs = 47.437 (min/A)
5) 1HYYETAK (K/H) 2ty b
Qs : 1AK%y oEAE (Jyby)
qs : HNZRFRIY D EE N = (60 x Hx 2 /Ts
( 16.0 Jy v, /min)
= 9.045 (A&, H)
H : EAZHO1H%EY
FAEHEREH ( 6. 3 M)



KREAT BEHAEE

ERT4 2201 -3PKHRBIES AT byl
i T4 |—EEAML—F— e ty Mk 2 SRWI7 IR
fift | 5.348
R+ WE+ Wt SR X
JEF S| JEE DB SRLIA Kol | WwHW L R0A o7 ERA o7 T5:1
0~4 4~8 | 8~15 | 0~10 | 10~30 | 30LLk | 0~50 | 50Lk L L7puh:2
1| 1.619] 1.619 2
2] 2.321] 2.321 1| 2.321
3] 0.498 0.498 1| 0.498
4
5
6
7
8
9
10
11
B 3. 940 0.498 2.819
4.438 3. 940 0.498
4 R g & L &
1. HIFLE
R BIAREZRE X v 3.940 m
W+ 0.498 m
R 1
B 4.438 m
2. EAE
M| @B 0~4 2.321 2.321 m
PhE | 4~8
fiio7-| 8~15
WE |5 0~10 0. 498 0.498 m
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.819 m
3. kv E 4,438  — 2.819 1.619 m
4. RPRTERE 2.319 X 3.000 -  2.024°X /8 5. 348 m2
5. HIFLAK 5.348 =+ Lo m/A& = X 6 &
6. x5 ik
ML BV 0~4 2.321 X 5. 348 12.413 m3
ERA 4~8
fEol-| 8~15
WEL[ w5\ 0~10 0.498 X 5. 348 2.663 m3
EaDA 10~30
fEo7=] 30LL 1
BE | PAL | 0~50
FE-o7-| 5084

. 076

m3




HEAME [ 220138 BE ST R ]

[1] EEEAE EHERXR_EER v—T 1)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EAMSRERE (3)
0 P (%)
o iR E (%)
o’ EAR (%)
+ ' 4 N fi | ARG LE | A & | EAR [ FEALE| E A E Gy 1ARE Y FEAREQs Uy
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 12. 413 2.321 28.00 1:0 3.476 579. 33 579. 33
g+ 0~10 2. 663 0. 498 40.50{ 1 : 1.5 0. 431 0. 647 71.83 107.83 179. 66
& 15. 08 2.819 3.907 0. 647 651. 16 107. 83 758. 99
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.238  (min/AK)
(min/m) Lo (m) T2 (min)
B+ 4.0 3. 940 15. 760 v2 o 0 RO EAEZERR ( 2.0 min/m)
W E + 5.0 0. 498 2. 490
[ e 8.0 (4) 1A% fii THREHE (min,/ 4%)
& Et 4. 438 18. 250
Ts = Tl + T2 + T3 + T4
= 82.925 (min/A)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14.0 min)
T3 = Qs /qs = 47.437 (min/A)
5) 1HYYETAK (K/H) 2ty b
Qs : 1AK%y oEAE (Jyby)
qs : HNZRFRIY D EE N = (60 x Hx 2 /Ts
( 16.0 Jy v, /min)
= 9.117 (K, H)
H : EAZHO1H%EY
FAEHEREH ( 6. 3 M)
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KREAT BEHAEE

fRT4  (M2208-1FENT T il
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HifE | 5.039
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308k L | 0~50 | 508k L7auN:2
1| 1.500{ 1.500 2
2| 2.416| 2.416 1| 2.416
3 2
4
5
6
7
8
9
10
11
i 3.916 2.416
3.916 3.916
4 R g & L &
1. HIFLE
itk BIFCERE L 0 3.916 m
WHE 1+
BE -
i 3.916 m
2. AR
Rt DDV 0~4 2.416 2.416 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.416 m
3. b R 3.916 — 2.416 1.500 m
4. PR 2.216 X 3. 000 - 2.024°X /8 5.039 m2
5. HIFLAK 5039 =+ Lo m/A& = X 6 &
6. x5 ik
vt B 0~4 2.416 X 5.039 12.175 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
i | 10~30
ftio7=| 308k
B AL | 0~50
FE-o7-| 5084

12.175 m3




AR [ M2208-138HESTHT Lyl ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 12.175 2.416 28.00] 1:0 3.409 568. 17 568. 17
& 12.18 2.416 3. 409 568. 17 568. 17
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 3.916 15. 664 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 3.916 15. 664

Ts = T1+ T2+ T3+ T4

= 68.175 (min/R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 35.511 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 11.089 (& H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



KREAT BEHAEE

ERT4 [M2209- 1R BIFENT T il
i T4 |—EEAML—F— e ty Mk 2 SRIAT IR
Hf | 5.736
A+ W+ BT+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308kk | 0~50 | 508k L7auN:2
1] 1.922( 1.922 2
2| 2.716| 2.716 1| 2.716
3
4
5
6
7
8
9
10
11
i 4. 638 2.716
4. 638 4. 638
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.638 m
WHE 1+
R 1
i 4.638 m
2. AR
Rt DDV 0~4 2.716 2.716 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.716 m
3. b R 4.638 — 2.716 1.922 m
4. PR 2.216 X 3. 000 - L.524°X /8 5.736 m2
5. BIFLAKL 5.736 = 1.0 m2/7A = 6 X 1 6 7K
6. FIE A ( 1.108 X 1.108 - 1.524° X /16 ) X ( 2.716 - 0.0.5 ) 2.057 A&
PSS
vkt B 0~4 2.716 X 5.736 - 2. 057 13.522 m3
LA 4~8
fEol-| 8~15
WE | p2Zv| 0~10
i | 10~30
fEo7| 308 L
B | AL | 0~50
FE-o7-| 5084
i 13.522 m3




BAME [ M2209-1WEESr 5T Rk ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 13. 522 2.716 28.00] 1:0 3.786 631. 00 631. 00
& 13. 52 2.716 3. 786 631. 00 631. 00
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.844 (min/AK)
(min/m) Lo (m) T2 (min)
B+ 4.0 4.638 18. 552 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 638 18. 552

Ts = T1+ T2+ T3+ T4

= 75.834 (min/R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 39. 438 (min,/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 9.969 (A, H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



KREAT BEHAEE

EFT4 [M2209- 1R EIFENTHT  Fifil
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HifE | 5.736
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 3084k | 0~50 | 5084 |k L7auN:2
1| 1.972] 1.972 2
2| 2.716| 2.716 1| 2.716
3
4
5
6
7
8
9
10
11
i 4. 688 2.716
4. 688 4. 688
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.688 m
WHE+
BE -
i 4.688 m
2. AR
Rt DDV 0~4 2.716 2.716 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.716 m
3. b R 4.688  — 2.716 1.972 m
4. PR 2.216 X 3. 000 - 1.524°X 7 /8 5.736 m2
5. Bl FLASEL 5.736  + 1.0 m2/7A = X 6 7
6. x5 ik
BEEE| 9DV 0~4 2.716 X 5.736 15.579 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
iz | 10~30
ftio7=| 308k
B AL | 0~50
FE-o7-| 5084

15.579 m3




HEAME [ M2209-1TEGESLST ol )|
[1] WEREAE FHEHEX_EEFX bLv—FI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 15. 579 2.716 28.00] 1:0 4. 362 727. 00 727. 00
& 15. 58 2.716 4. 362 727. 00 727. 00
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.944  (min/K)
(min/m) Lo (m) T2 (min)
B+ 4.0 4. 688 18. 752 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 688 18. 752

Ts = T1+ T2+ T3+ T4

= 82.134 (min/R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 45. 438 (min,/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 9.204 (A&, H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])
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KREAT BEHAEE

ERT4  (M2209-2%ENT T Al
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HifE | 5.039
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 3084k | 0~50 | 5084 |k L7auN:2
1| 1.719] 1.719 2
2| 2.716| 2.716 1| 2.716
3
4
5
6
7
8
9
10
11
i 4. 435 2.716
4. 435 4.435
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.435 m
WHE+
BE -
B 4.435 m
2. AR
Rt DDV 0~4 2.716 2.716 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.716 m
3. b R 4.435  — 2.716 1.719 m
4. PR 2.216 X 3. 000 - 2.024°X /8 5.039 m2
5. Bl FLASEL 5.039 =+ 1.0 m2/7A = X 6 7
6. x5 ik
BEEE| 9DV 0~4 2.716 X 5.039 13.687 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
iz | 10~30
ftio7=| 308k
B AL | 0~50
FE-o7-| 5084

13.687 m3




AR [ M2209-2%8HESTHT Lyl ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

+ ' 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1ARE Y FEAREQs Uy
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 13. 687 2.716 28.00] 1:0 3.832 638. 67 638. 67
& 13. 69 2.716 3. 832 638. 67 638. 67
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.438  (min/AK)
(min/m) Lo (m) T2 (min)
B+ 4.0 4.435 17. 740 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 435 17. 740

Ts = T1+ T2+ T3+ T4

= 75.095 (min//K)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 39.917 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 10.067 (A H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



KREAT BEHAEE

ERT4  (M2209-2%ENT T il
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HifE | 5.039
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308k L | 0~50 | 508k L7auN:2
1] 1.739[ 1.739 2
2| 2.716| 2.716 1| 2.716
3
4
5
6
7
8
9
10
11
i 4. 455 2.716
4. 455 4. 455
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.455 m
WHE 1+
BE -
B 4.455 m
2. AR
Rt DDV 0~4 2.716 2.716 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.716 m
3. b R 4.455  — 2.716 1.739 m
4. PR 2.216 X 3. 000 - 2.024°X /8 5.039 m2
5. HIFLAK 5039 =+ Lo m/A& = X 6 &
6. x5 ik
vt B 0~4 2.716 X 5.039 13.687 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
iz | 10~30
ftio7=| 308k
B AL | 0~50
FE-o7-| 5084

13.687 m3




AR [ M2209-2%HESHT Tl )|
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

+ ' 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1ARE Y FEAREQs Uy
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 13. 687 2.716 28.00] 1:0 3.832 638. 67 638. 67
& 13. 69 2.716 3. 832 638. 67 638. 67
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.478  (min/K)
(min/m) Lo (m) T2 (min)
B+ 4.0 4. 455 17. 820 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 455 17. 820

Ts = T1+ T2+ T3+ T4

= 75.215 (min//R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 39.917 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 10.051 (A H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



HIfLR R

M2209-2 [iFEEIT I

4435

1719

2716

=

No. 2

TP A1 310
Dep. =24, 07n

g
010 20 30 40 %

\m

1739

2716

4455




KREAT BEHAEE

EFT4 (M2209-3F&HMERIFENT HT  E3fil
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HifE | 5.182
A+ W+ B+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308kl | 0~50 | 5024k L7auN:2
1| 1.500{ 1.500 2
2] 2.300] 2.300 1] 2.300
3
4
5
6
7
8
9
10
11
i 3. 800 2. 300
3. 800 3. 800
4 R g & L &
1. HIFLE
itk BIFCERE L 0 3.800 m
WHE 1+
BE -
i 3.800 m
2. AR
Rt DDV 0~4 2. 300 2.300 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.300 m
3. b R 3.800 — 2. 300 1.500 m
4. PR 2.216 X 2.750 - L.524°X /8 5.182 m2
5. HIFLAK 5182 =+ Lo m/A& = X 6 &
6. x5 ik
vt B 0~4 2.300 X 5.182 11.918 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
i | 10~30
Ko7 | 308 L
B AL | 0~50
FE-o7-| 5084

11.918 m3




TEAME [ M2209-3%ERENST Ll ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 6 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 11.918 2.300 28.00] 1:0 3.337 556. 17 556. 17
& 11.92 2. 300 3.337 556. 17 556. 17
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 3. 800 15. 200 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 3. 800 15. 200

Ts = T1+ T2+ T3+ T4

= 66.961 (min/7R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 34.761 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 11.290 (& H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



KREAT BEHAEE

EFT4 (M2209-3FEHERIFENTHT  Fiifil
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HR | 4.769
A+ W+ BT+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 3084k | 0~50 | 5084 |k L7auN:2
1| 1.500{ 1.500 2
2| 2.381| 2.381 1] 2.381
3
4
5
6
7
8
9
10
11
i 3. 881 2.381
3. 881 3. 881
4 R g & L &
1. HIFLE
itk BIFCERE L 0 3.881 m
WHE 1+
R 1
i 3.881 m
2. AR
Rt DDV 0~4 2. 381 2.381 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.381 m
3. b R 3.881 — 2.381 1.500 m
4. PR 2.319 X 2.750 - 2.024°X /8 4.769 m2
5. HilFLA%K 4.769 =+ 1.0 m2/A = 5 X 1 5 A&
6. x5 ik
vt B 0~4 2.381 X 4.769 11.354 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
i | 10~30
Ko7 | 308 L
B AL | 0~50
FE-o7-| 5084
i 11.354 m3




BEAME [ M2209-3%EHIESIHT Rl )|
[1] WEREAE FHEHEX_EEFX bLv—FI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 5 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 11. 354 2.381 28.00] 1:0 3.179 635. 80 635. 80
& 11.35 2.381 3. 179 635. 80 635. 80
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 3.881 15. 524 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 3. 881 15. 524

Ts = T1+ T2+ T3+ T4

= 72.262 (min/K)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 39. 738 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts

= 10.462 (& H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



3800

1500

HIfLR R

M2209-3 FEZEIL

hn

2300

1K<

No. 2

T.P11.310n

Dep. =24. 0n

i
000D H N

1500

2381

3882




KREAT BEHAEE

ERT4  (M2210-1FENT T il
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
Hf | 3.029
A+ W+ BT+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308kk | 0~50 | 508k L7auN:2
1| 1.500{ 1.500 2
2| 2.561| 2.561 1| 2.561
3
4
5
6
7
8
9
10
11
i 4. 061 2.561
4. 061 4. 061
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.061 m
WHE 1+
R 1
i 4.061 m
2. AR
Rt DDV 0~4 2.561 2.561 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.561 m
3. b R 4.061 — 2.561 1.500 m
4. PR 2.319 X 2.000 - 2.024°X /8 3.029 m2
5. BIFLAKL 3.029 = 1.0 m2/7A = 4 X 1 4 K
6. x5 ik
vt B 0~4 2.561 X 3.029 7.758 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
i | 10~30
Ko7 | 308 L
B AL | 0~50
FE-o7-| 5084
i 7.758 m3




AR [ M2210-1388ESTHT Lyl ]
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 4 ()
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

+ ' 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1ARE Y FEAREQs Uy
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 7.758 2.561 28.00] 1:0 2.172 543. 00 543. 00
& 7.76 2. 561 2. 172 543. 00 543. 00
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 4. 061 16. 244 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 061 16. 244

Ts = T1+ T2+ T3+ T4

= 67.182 (min/R)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 33.938 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 11.253 (& H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])



KREAT BEHAEE

ERT4  (M2210-1FMENT T il
i T4 | “HEER DL —F— e ty Mk 2 SRIAT IR
HR | 2.823
A+ W+ BT+ HEYE X[
JEES| EE | $Hv | i | Ko | WDV | FhE | Riore | i | Ko7 +5:1
0~4 4~8 8~15 | 0~10 | 10~30 | 308kk | 0~50 | 508k L7auN:2
1| 1.500{ 1.500 2
2| 2.540] 2.540 1| 2.540
3
4
5
6
7
8
9
10
11
i 4. 040 2. 540
4. 040 4. 040
4 R g & L &
1. HIFLE
itk BIFCERE L 0 4.040 m
WHE 1+
R 1
i 4.040 m
2. AR
Rt DDV 0~4 2. 540 2.540 m
PhE | 4~8
fiio7-| 8~15
WE LD 0~10
AL | 10~30
fio72| 3004k
B A AL | 0~50
ftio72| 50LLE
B 2.540 m
3. b R 4.040 — 2. 540 1.500 m
4. PR 2.216 X 2.000 - 2.024°X /8 2.823 m2
5. BIFLAKL 2.823 = 1.0 m2/7A = 3 X 1 3 A
6. x5 ik
vt B 0~4 2.540 X 2.823 7.171 m3
ERA 4~8
fEol-| 8~15
WE | $5v | 0~10
i | 10~30
Ko7 | 308 L
B AL | 0~50
FE-o7-| 5084
i 7.171 m3




AR [ M2210-1388ESTHT Tl )|
[1] WEEAR EHERX_EFX ML—JFI)

V=Vx(pxa) =V x o

halhall e Vo AR (k1) M EAKRH= 3 (R
Vo EARG LR (m3)
0 P (%)
o iR E (%)
o’ EAR (%)

T B 4 N ff | EAMRLEE | A & | EAR | AR | A & Gy 1 AN EAREQsUy W
V. (m3) (m) o (%) | BEAS ARG | B &S A B A fEAE it
i i 0~ 4 7.171 2. 540 28.00] 1:0 2.008 669. 33 669. 33
& 7.17 2. 540 2.008 669. 33 669. 33
[2] BEABET
(1) 1A% Y HIALEER  (nin/A) (3) w0 5IEIERH  (min,/ A%)
T2 = X(y1x Lo) T4 = (HIFLE — HEAR ) x y2
T " 4 vl HIFLE HIFLAER = 3.000 (min/ )
(min/m) Lo (m) T2 (min)
B+ 4.0 4. 040 16. 160 v2 o 0 RO EAEZERR ( 2.0 min/m)
wE + 5.0
[ 8.0 (4) 1AK%V TEEHE (min/7K)
& Et 4. 040 16. 160

Ts = T1+ T2+ T3+ T4

= 74.993 (min/K)
(2) 1AR% Y EAFRERE  (nin/7A)
T1 : BEBCEGRRER ( 14. 0 min)
T3 = Qs /qs = 41.833 (min/A)
(G) 1HEVETAL (K/H) 2ty b
Qs 1 AYYOFEARE Uy
as : HZRERH]Y D EA R N
( 16.0 Jy v, /min)

(60 x H)x 2 /Ts
= 10.081 (A H)

I EARHEO 1 AHY
FAEHERE ] ( 6.3 IRFH])
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< UR—IVERR THETR

B B OB OE OB
TRV BRI LAR3) | #EILADA) £ L aa st M2208-1 M2209-1 M2209-2 | M2209-3 | M2210-1 ¥
FRAEIH MEEITH | MREMN | REBLEIH | BEIRITIHR
Wik

\UTENT | 184 Eli 5 i 1 1 i i
oA LR m | 15889 2908 3680 3447 2822 3032
A28 —hT avoy—RI 18825 | m3| 082 016 017 016 017 016
EARLESY 1:2 t2om [ m2| 078 078 074 078 074 078
BEHT qUOY—RI 18-8-25 | m3| 049 014 008 014 019 0.16
BT m2 1.80 052 028 052 069 059




Ivk—ILT

| g K - /I E B B
1848312 hR—IL M2208-1
m
1.9 —ILR = 2.908| 2.908
BT
2ANAELETS =
avyl)—k 18-8-25 m3
/4 X 11072 x 0.150 = 0.14 0.14
2 m2
mr X 110 X 0.150 = 0.52 0.52
3AIN—kavHyy—k BRERAEIRTELE
A IN—haH)—k 18-8-25
/4 x 0972 x 0.290 = 0.18
I 475 &0.170+0.200/2+0.020/2="0.290
i L TREHER 1/2 % (0.200+0.200) =0.200
BRAR 1/2 % (0.900+0.200) =0.350
1/2 X 7/4 x 0.200°2 X 0.9 = A 001
1/2 X 7/4 X 0.200°2 X 0.350 = A 001
1/2 X /4 x 0.00072 x 0.350 = m3
= 0.16 0.16
“EJLAIL EZEY 1:2 t=2cm
/4 %0972 = 0.64
1/2 X 71 % 0.200 X 0.9 = 0.28
1/2 X 71 % 0.200 X 0.350 = 0.11
1/2 X 71 % 0.000 x 0.350 =
2R
0.200 x 0.9 = A 018
0.200 x 0.350 = A 007
0.000 x 0.350 =
m2
= 0.78 0.78




Ivk—ILT

| g K - /I E B =
1848312 hR—IL M2209-1
m
1.9 —ILR = 368 3.680
BT
2ANAELETS =
avyl)—k 18-8-25 m3
/4 X 11072 x 0.080 = 0.08 0.08
2 m2
X 110 X 0.080 = 0.28 0.28
3AIN—kavHyy—k BRERAEIRTELE
A IN—haH)—k 18-8-25
/4 x 0972 x 0.290 = 0.18
I 475 &0.170+0.200/2+0.050/2="0.290
) LtTREHER 1/2 % (0.200+0.200) =0.200
1/2 X 7/4 X 020072 X 0.9 = A 001
1/2 X 7 /4 x 0.00072 x 0.350 =
1/2 X /4 X 0.00072 x 0.350 = m3
= 0.17 0.17
“EJLAIL EZEY 1:2 t=2cm
/4 %0972 = 0.64
1/2 X 71 X 0.200 X 0.9 = 0.28
1/2 X 71 % 0.000 X 0.350 =
1/2 X 71 % 0.000 X 0.350 =
2R%
0.200 x 0.9 = A 018
0.000 x 0.350 =
0.000 x 0.350 =
m2
= 0.74 0.74




Ivk—ILT

2 Al g = N E H =
1848312 hR—IL M2209-2
m
1.9 —ILR = 3.447| 3447
BT
2ANAELETS =
avyl)—k 18-8-25 m3
/4 X 11072 x 0.150 = 0.14 0.14
2 m2
m X 110 X 0.150 = 0.52 0.52
3AIN—kavHyy—k BRERAEIRTELE
A IN—haH)—k 18-8-25
/4 x 0972 x 0.290 = 0.18
I 475 &0.170+0.200/2+0.020/2="0.290
Ex L THRTEHER 1/2 % (0.200+0.200) =0.200
BRAR 1/2 % (0.900+0.200) =0.350
1/2 X 7/4 X 020072 X 0.9 = A 001
1/2 X 7/4 X 0.200°2 X 0.350 = A 001
1/2 X /4 X 0.00072 x 0.350 = m3
= 0.16 0.16
“EJLAIL EZEY 1:2 t=2cm
/4 %0972 = 0.64
1/2 X 71 X 0.200 X 0.9 = 0.28
1/2 X 71 % 0.200 X 0.350 = 0.11
1/2 X 71 % 0.000 X 0.350 =
2R%
0.200 x 0.9 = A 018
0.200 x 0.350 = A 007
0.000 x 0.350 =
m2
= 0.78 0.78




Ivk—ILT

| g K - /I E B =
1848312 hR—IL M2209-3
m
1.9 —ILR = 2.822| 2.822
BT
2ANAELETS =
avyl)—k 18-8-25 m3
/4 X 11072 x 0.200 = 0.19 0.19
2 m2
T X 110 X 0.200 = 0.69 0.69
3AIN—kavHyy—k BRERAEIRTELE
A IN—haH)—k 18-8-25
/4 x 0972 x 0.290 = 0.18
I 475 &0.170+0.200/2+0.030/2="0.290
) LtTREHER 1/2 % (0.200+0.200) =0.200
1/2 X 7/4 X 020072 X 0.9 = A 001
1/2 X 7 /4 x 0.00072 x 0.350 =
1/2 X /4 X 0.00072 x 0.350 = m3
= 0.17 0.17
“EJLAIL EZEY 1:2 t=2cm
/4 %0972 = 0.64
1/2 X 71 X 0.200 X 0.9 = 0.28
1/2 X 71 % 0.000 X 0.350 =
1/2 X 71 % 0.000 X 0.350 =
2R%
0.200 x 0.9 = A 018
0.000 x 0.350 =
0.000 x 0.350 =
m2
= 0.74 0.74




Ivk—ILT

| g K - /I E B =
1848312 hR—IL M2210-1
m
1.9 —ILR = 3.032| 3.032
BT
2ANAELETS =
avyl)—k 18-8-25 m3
/4 x 11072 x 0.170 = 0.16 0.16
2 m2
r X 110 X 0.170 = 0.59 0.59
3AIN—kavHyy—k BRERAEIRTELE
A IN—haH)—k 18-8-25
/4 x 0972 x 0.290 = 0.18
I 475 &0.170+0.200/2+0.030/2="0.290
) LtTREHER 1/2 % (0.200+0.200) =0.200
1/2 X 7/4 X 020072 X 0.9 = A 001
1/2 X 7/4 X 0.200°2 X 0.350 = A 001
1/2 X /4 X 0.00072 x 0.350 = m3
= 0.16 0.16
“EJLAIL EZEY 1:2 t=2cm
/4 %0972 = 0.64
1/2 X 71 X 0.200 X 0.9 = 0.28
1/2 X 71 % 0.200 X 0.350 = 0.11
1/2 X 71 % 0.000 X 0.350 =
2R%
0.200 x 0.9 = A 018
0.200 x 0.350 = A 007
0.000 x 0.350 =
m2
= 0.78 0.78




uEEW

. . . ™
THEWAL) | BRLAR) | 83 (AN & B H ap 2201-305#% | 2201-3BE#R | M2208—1 | M2209-1 | M2209-2 | M2209-3 | M2210-1 =
" RELY | NEIL | RELn | GHSLYN | GRELN |RENALS | RENATYH
FHI
WEWET | SEEUNT SHEYI T 77*77’1’;'%755“‘*? m 43.60 6.70 6.70 6.70 5.05 6.70 5.05 6.70
7;{77";'%:'&'5“*? m 63.53 9.76 9.76 9.71 9.00 7.10 7.04 11.16
o m| 10713 16.46 16.46 16.41 14.05 13.80 12.09 17.86
SRR | SEEREEEEIEAT A“é‘o&";glsﬂ'* 0.45m3 m? 20.79 3.39 3.39 3.39 1.92 3.39 1.92 3.39
<
Aot e m?|  59.80 9.73 9.73 9.66 5.06 9.91 7.92 7.79
= m? 80.59 13.12 13.12 13.05 6.98 13.30 9.84 11.18
BEfLE RSB T U, R m? 0.62 0.10 0.10 0.10 0.06 0.10 0.06 0.10
Uy S m? 258 042 0.42 042 0.22 043 0.36 0.32
o m? 3.20 0.52 0.52 0.52 0.28 0.53 0.42 0.42
= ——
MEELT =R FET (—HRATHE) BERHEAS dom w | 2079 3.39 3.39 3.39 1.92 3.39 1.92 339
t 1.48 024 024 024 0.14 024 0.14 0.24
=
ﬁﬁggf AT EEY BRI BH 0.45m3 10t8TR5vs | m? 0.39 0.06 0.06 0.06 0.04 0.06 0.04 0.06
TEERE 3
Beridervie m 0.39 0.06 0.06 0.06 004 0.06 0.04 0.06
BipmEn m? 0.39 0.06 0.06 0.06 004 0.06 0.04 0.06
REERE m? 59.80 9.73 9.73 9.66 5.06 9.91 7.92 7.79
REI (—HEHE) BAEZHEAs t=5cm
IE iy RS m? 59.55 9.73 9.73 9.66 5.06 9.66 7.92 7.79
t 7.03 1.14 1.14 114 0.60 1.16 0.93 0.92




=T

E A g £ - /3 H =
S RE AT |2201-3RR (R HEIT IT)
— R BT E
- SHARhR U BT T
FTAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.838 x 8.0 = 6.704 6.70 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.838 x 1.012=2 X 8.0 = 3.392 3.39 m2
3.392 x 0.030 = 0.102 0.10 m3
BOERALEE T
FAIT7ILE = 0.10 0.10 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.838 x 1.012=2 x 8.0 = 3.392 3.39 m2
3.392 X 0.030 X 2.350 = 0.239

0.24




=T

2 Al g = N E B B
ERLE RIS AT |2201-3RR (R AEITHT)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
(FEEIE)
p
I~
|
] 348
3486 + 3486 + 2.791 = 9.763 976 m
CEEEERREERE T
SHEREEIERIEATL INY7R0.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
3.486 x 2.791 = 9.729 9.73 m2
(9.729 —3.392) x0.050 = 0.317
3.392 % 0.030 = 0.102
&t = 0.419 042 m3
ROERALE T
FAI7ILE = 0.42 042 m3
(AR ERRY
RC-40 t=2.0cm
20242 x /4  x 0020 = 0.064 0.06 m3
- T EMERLIET
#a = 0.06 0.06 m3
REZEET
3.486 x 2.791 = 9.729 9.73 m2
RKEI(ZvHa—hk)
BEZREAs t=5.0cm 1.4m=b
3.486 x 2.791 = 9.729 9.73 m2
9729 x 0.050 x 2.350 = 1.143 114 t




=T

E A g £ - /3 H =
S RE AT |2201-3RR&(BIE T IT)
— BT
- SR AR V1T T
FTAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.838 x 8.0 = 6.704 6.70 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.838 x 1.012=2 X 8.0 = 3.392 3.39 m2
3.392 x 0.030 = 0.102 0.10 m3
BOERALEE T
FAIT7ILE = 0.10 0.10 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.838 x 1.012=2 x 8.0 = 3.392 3.39 m2
3.392 X 0.030 X 2.350 = 0.239

0.24




=T

2 Al g = N E H =
ERLERHE AT |2201-3R &2 (BIZEILHT)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
(FEEIE)
>
™~
[aY]
348 \
3486 + 3486 + 2.791 = 9.763 976 m
EHAE AR AR T
SHEREEIERIEATL INY7R0.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
3.486 x 2.791 = 9.729 9.73 m2
(9.729 —3.392) x0.050 = 0.317
3.392 x 0.030 = 0.102
&t = 0.419 042 m3
ROERALE T
FAI7ILE = 0.42 042 m3
IRARTTERY
RC-40 t=2.0cm
20242 x /4  x 0020 = 0.064 0.06 m3
- T EMERLIET
#a = 0.06 0.06 m3
REZEET
3.486 x 2.791 = 9.729 9.73 m2
RKEI(ZvHa—hk)
BEZREAs t=5.0cm 1.4m=b
3.486 x 2.791 = 9.729 9.73 m2
9729 x 0.050 x 2.350 = 1.143 114 t




=T

E A g £ - /3 H =
SR8 15T |M2208-1(S8 £E 31 1)
— R BT E
- SHARhR U BT T
FTAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.838 x 8.0 = 6.704 6.70 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.838 x 1.012=2 X 8.0 = 3.392 3.39 m2
3.392 x 0.030 = 0.102 0.10 m3
BOERALEE T
FAIT7ILE = 0.10 0.10 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.838 x 1.012=2 x 8.0 = 3.392 3.39 m2
3.392 X 0.030 X 2.350 = 0.239

0.24




=T

E A g I E H =
SR ARE AT 'M2208-1(38HEILHT)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
(FEIEIR)
>
™~
[aY]
346 \
3460 + 3460 + 2.791 = 9.711 971 m
EHAE AR AR T
SHEREEIERIEATL 1\ 7170.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
3.460 X 2.791 = 9.657 9.66 m2
(9.657 —3.392) x0.050 = 0.313
3.392 x 0.030 = 0.102
&t = 0.415 042 m3
ROERALE T
FAI7ILE = 0.42 042 m3
IRARTTERY
RC-40 t=2.0cm
20242 x /4  x 0020 = 0.064 0.06 m3
- T EMERLIET
#a = 0.06 0.06 m3
REZEET
3.460 x 2.791 = 9.657 9.66 m2
RKEI(ZvHa—hk)
BEZREAs t=5.0cm 1.4m=b
3.460 x 2.791 = 9.657 9.66 m2
9657 X 0.050 X 2.350 = 1.135 114t




=T

0.14

2 Al g = N E B B
SRS AT (M2209-1(F B ZE L)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=3cm)
=00 5 R
SAER U
0.631 x 8.0 = 5.048 505 m
AR T
SHEMREEIEATEAT 7139 7R770.45m3
FTAI7ILE t=10cm (t=5cm)
0.631 X 0.762=2 X80 = 1.923 1.92 m2
1.923 % 0.030 = 0.058 0.06 m3
FROEWRALIE T
FAIF7ILE = 0.06 0.06 m3
KRBT
BEZHEAS t=3.0cm 1.4m=b
0.631 X 0.762=2 X80 = 1.923 1.92 m2
1923 x 0.030 X 2.350 = 0.136




=T

E A g = N E B E
SR ARE AT (M2209-1(F B ZE L)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
o
(Tp]
(9]
(9]
L 2250 |
2.250 X 4.0 = 9.000 9.00 m
EHAE AR AR T
SHEREEIERIEATL INY7R0.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
2.250 x 2.250 = 5.063 506 m2
(5.063 —1.923) x0.050 = 0.157
1.923 x 0.030 = 0.058
&t = 0.215 0.22 m3
ROERALE T
FAI7ILE = 0.22 0.22 m3
IRARTTERY
RC-40 t=2.0cm
15242 x /4  x 0.020 = 0.036 0.04 m3
- T EMERLIET
#a = 0.04 0.04 m3
REZEET
2.250 X 2.250 = 5.063 506 m2
xEI(Fvoa—hk)
BEZREAs t=5.0cm 1.4m=b
2.250 X 2.250 = 5.063 506 m2
5063 X 0.050 x 2.350 = 0.595 060 t




=T

E A g £ - /3 H =
-SSR 18 15 T |M2209-2(7 & £ 31 Hi)
— R BT E
- SHARhR U BT T
FAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.838 x 8.0 = 6.704 6.70 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.838 x 1.012=2 X 8.0 = 3.392 3.39 m2
3.392 x 0.030 = 0.102 0.10 m3
BOERALEE T
FAIT7ILE = 0.10 0.10 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.838 x 1.012=2 x 8.0 = 3.392 3.39 m2
3.392 X 0.030 X 2.350 = 0.239

0.24




=T

E A g I E H =
SR ARE AT (M2209-2(F S I HT)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
(£m@EEIE)
>
™~
[aY]
355 \
3550 + 3.550 = 7.100 710 m
EHAE AR AR T
SHEREEIERIEATL 1\ 7170.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
3.550 X 2.791 = 9.908 991 m2
(9.908 —3.392) x0.050 = 0.326
3.392 x 0.030 = 0.102
&t = 0.428 043 m3
ROERALE T
FAI7ILE = 0.43 0.43 m3
IRARTTERY
RC-40 t=2.0cm
20242 x /4  x 0020 = 0.064 0.06 m3
- T EMERLIET
#a = 0.06 0.06 m3
REZEET
3.550 x 2.791 = 9.908 991 m2
xEI(Fvoa—hk)
BEZREAs t=5.0cm 1.4m=b
3.550 x 2.791 = 9.908 991 m2
9.908 x 0.050 x 2350 = 1.164 116t




=T

E A g I F H =
SRR {8 1B T |M2209-3(S8 HE B T IT)
— R BT E
- SHARhR U BT T
FTAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.631 x 8.0 = 5.048 505 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.631 x 0.762=2 X 8.0 = 1.923 1.92 m2
1.923 x 0.030 = 0.058 0.06 m3
BOERALEE T
FAIT7ILE = 0.06 0.06 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.631 x 0.762-=2 x 8.0 = 1.923 1.92 m2
1923 X 0030 x 2.350 = 0.136

0.14




=T

E A g I E H =
ERLE K8 [T |M2209-3(38 1 B 3= 3T H1)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
o
(Tp]
(9]
(9]
3.520 3.520 = 7.040 704 m
EHAE AR AR T
SHEREEIERIEATL 1\ 7170.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
3.520 X 2.250 = 7.920 7.92 m2
(7920 —1.923) x0.050 = 0.300
1.923 x 0.030 = 0.058
&t = 0.358 0.36 m3
ROERALE T
FAI7ILE = 0.36 0.36 m3
IRARTTERY
RC-40 t=2.0cm
15242 x /4  x 0.020 = 0.036 0.04 m3
T EEIRLIET
#a = 0.04 0.04 m3
REZEET
3.520 X 2.250 = 7.920 7.92 m2
‘REI(AvYa—h)
BEZREAs t=5.0cm 1.4m=b
3.520 X 2.250 = 7.920 7.92 m2
7920 x 0.050 X 2.350 = 0.931 093 t




=T

E A g £ - /3 H =
SRS IR T (M2210-1(SE T ZE T IT)
— R BT E
- SHARhR U BT T
FTAI7ILE t=<15cm (t=3cm)
= 0 5 F
8A RN
0.838 x 8.0 = 6.704 6.70 m
SRR T
SHEREEESTEATL 1\y971R70.45m3
TRAI7ILE t=10cm (t=5cm)
0.838 x 1.012=2 X 8.0 = 3.392 3.39 m2
3.392 x 0.030 = 0.102 0.10 m3
BOERALEE T
FAIT7ILE = 0.10 0.10 m3
-RETL
HAEZFHEAs t=3.0cm 1.4m=b
0.838 x 1.012=2 x 8.0 = 3.392 3.39 m2
3.392 X 0.030 X 2.350 = 0.239

0.24




=T

E A g I E H =
ERLERIE AT (M2210-1(SHEE B = I HT)
— R BT E
EHAE AR UIET T
FTRAI7ILE t=15cm (t=5cm)
(£m@EEIE)
>
™~
[aY]
2791 ‘
2.791 x 4.0 = 11.164 1116 m
EHAE AR AR T
SHEREEIERIEATL 1\ 7170.45m3
FAI7ILE t=10cm (t=5.0cm. 3.0cm)
2.791 x 2.791 = 7.790 7.79 m2
(7790 —3.392) x0.050 = 0.220
3.392 x 0.030 = 0.102
&t = 0.322 0.32 m3
ROERALE T
FAI7ILE = 0.32 0.32 m3
IRARTTERY
RC-40 t=2.0cm
20242 x /4  x 0020 = 0.064 0.06 m3
- T EMERLIET
#a = 0.06 0.06 m3
REZEET
2.791 x 2.791 = 7.790 779 m2
xEI(Fvoa—hk)
BEZREAs t=5.0cm 1.4m=b
2.791 x 2.791 = 7.790 779 m2
7.790 x 0.050 X 2.350 = 0.915 092 t




IINANEEHRERAHR

i H 2 INDRFS AL FEAE Edlfes & &
B4 E VU ¢ 200 m 2.54 2.46 5. 00
VU ¢ 200 X 4. 0m N 1 1 2
i 45° 1 2 2 4




SEYTNBLE

A = 0.35 + 1.85 + 0.34 = 2.54 m 2. 54
Hi% (45° ) 2 & 2
SEHUNELE

A = 0.55 + 1.57 + 0.34 = 2.46  m 2. 46

Hi% (45° ) 2 I 2

fem




